Unofficial Transcript

Name: Rebecca Karel Student ID: 3261516

Institution Info: Northern Arizona University

Print Date: 03/29/2020

Other Institutions Attended: Poston Butte High School

External Degrees

Poston Butte High School High School Degree or GED - 05/28/2015

Beginning of Undergraduate Record

Fall 2015

								<u>GPA</u>	
<u>Course</u>		Description			Attempted	Grade	Earned	<u>Units</u>	Points Points
CHM	151	GENERAL CH	IEMISTRY I		4.00	Α	4.00	4.00	16.00
CHM	151L	GENERAL CH	IEMISTRY I LAB		1.00	Α	1.00	1.00	4.00
MAT	125	PRECALCUL	JS MATHEMATICS		4.00	Α	4.00	4.00	16.00
PHS	101	PHYSICAL SC	I IN EVERYDAY LIFE		4.00	Α	4.00	4.00	16.00
PHY	103	FIRST-YEAR	SEMINAR		1.00	Р	1.00	0.00	0.00
TSM	101	STEP 1			1.00	Α	1.00	1.00	4.00
								GPA	
							Earned	Units	Points
		Term GPA:	4.00		Tern	n Totals:	15.00	14.00	56.00
		Cum GPA:	4.00		Cur	m Totals:	15.00	14.00	56.00
		Term Honor:	DEAN'S LIST						
		ACADEMIC S	TANDING: GOOD as of	f 12/29/2015					

Spring 2016

- و						<u>GPA</u>	
Course		<u>Description</u>	<u>Attempted</u>	<u>Grade</u>	<u>Earned</u>	Units	<u>Points</u>
CHM	152	GENERAL CHEMISTRY II	3.00	Α	3.00	3.00	12.00
ENG	105	CRITICAL READ/WRITNG IN UNIV	4.00	Α	4.00	4.00	16.00
HUM	101	INTRODUCTION TO HUMANITIES	3.00	Α	3.00	3.00	12.00
PHY	111	GENERAL PHYSICS I	4.00	Α	4.00	4.00	16.00
TSM	102	STEP 2	1.00	Α	1.00	1.00	4.00
USC	408	FIELD WORK EXPERIENCE	1.00	Р	1.00	0.00	0.00
		Topic: PEER MENTOR TRAINING					

				<u>GPA</u>	
			<u>Earned</u>	<u>Units</u>	Points Points
Term GPA:	4.00	Term Totals:	16.00	15.00	60.00
Cum GPA:	4.00	Cum Totals:	31.00	29.00	116.00

Term Honor: DEAN'S LIST

ACADEMIC STANDING: GOOD as of 05/23/2016

Fall 2016

						GPA.	
Course		<u>Description</u>	<u>Attempted</u>	<u>Grade</u>	<u>Earned</u>	<u>Units</u>	Points
BIO	181	UNITY OF LIFE I: CELL LIFE	3.00	Α	3.00	3.00	12.00
BIO	181L	UNITY OF LIFE I LAB	1.00	Α	1.00	1.00	4.00
CHM	152L	GENERAL CHEMISTRY II LAB	1.00	Α	1.00	1.00	4.00
PHY	112	GENERAL PHYSICS II	4.00	Α	4.00	4.00	16.00
SOC	215	RACE AND ETHNIC RELATIONS	3.00	Α	3.00	3.00	12.00
TSM	303	KNOWING & LEARNING IN SCIENCE	3.00	Α	3.00	3.00	12.00

Unofficial Transcript

Name: Rebecca Karel

|--|

				<u>GPA</u>	
			<u>Earned</u>	<u>Units</u>	<u>Points</u>
Term GPA:	4.00	Term Totals:	15.00	15.00	60.00
Cum GPA:	4.00	Cum Totals:	46.00	44.00	176.00

Term Honor: DEAN'S LIST

ACADEMIC STANDING: GOOD as of 12/28/2016

Spring 2017

								<u>GPA</u>	
<u>Course</u>		Description			<u>Attempted</u>	<u>Grade</u>	Earned	<u>Units</u>	<u>Points</u>
AST	183	LIFE IN THE U	JNIVERSE		3.00	Α	3.00	3.00	12.00
AST	184L	LIFE IN THE U	JNIVERSE LAB		1.00	Α	1.00	1.00	4.00
BIO	182	UNITY/LIFE II	: MULTICELLULAR		3.00	Α	3.00	3.00	12.00
BIO	182L	BIO 182 LAB			1.00	Α	1.00	1.00	4.00
PHY	264	ELECTRONIC	S FOR SCIENCE STDNTS	3	3.00	Α	3.00	3.00	12.00
SOC	101	INTRODUCTI	ON TO SOCIOLOGY		3.00	Α	3.00	3.00	12.00
TSM	350	CLASSROOM	INTERACTIONS		3.00	Α	3.00	3.00	12.00
								<u>GPA</u>	
							Earned	<u>Units</u>	<u>Points</u>
		Term GPA:	4.00		Tern	n Totals:	17.00	17.00	68.00
		Cum GPA:	4.00		Cur	m Totals:	63.00	61.00	244.00
		Term Honor:	DEAN'S LIST						

ACADEMIC STANDING: GOOD as of 05/22/2017

Fall 2017

							GPA	
	Course		<u>Description</u>	<u>Attempted</u>	<u>Grade</u>	Earned	<u>Units</u>	<u>Points</u>
	BIO	240	GENETICS AND EVOLUTION	3.00	Α	3.00	3.00	12.00
	BIO	305W	WRITING IN BIOLOGY	1.00	Α	1.00	1.00	4.00
	BIO	326	ECOLOGY	3.00	Α	3.00	3.00	12.00
	BIO	326L	ECOLOGY LAB	1.00	Α	1.00	1.00	4.00
	GER	101	FIRST YEAR GERMAN	4.00	Α	4.00	4.00	16.00
•	TSM	360	PERSPECTIVES ON SCIENCE	3.00	Α	3.00	3.00	12.00

<u>GPA</u> Earned 15.00 <u>Units</u> Points 60.00 Term GPA: 4.00 Term Totals: 15.00 4.00 Cum GPA: Cum Totals: 78.00 76.00 304.00

Term Honor: DEAN'S LIST

ACADEMIC STANDING: GOOD as of 12/27/2017

Spring 2018

						<u>GPA</u>	
Course		Description	<u>Attempted</u>	<u>Grade</u>	<u>Earned</u>	<u>Units</u>	Points
BME	210	FOUNDATINS OF MULTICULTURAL EDU	3.00	D	3.00	3.00	3.00
FIT	100	PHYSICAL EDUCATION	1.00	F	0.00	1.00	0.00
		Topic: ZUMBA					
FIT	100	PHYSICAL EDUCATION	1.00	F	0.00	1.00	0.00
		Topic: JAZZERCISE					
GLG	101	PHYSICAL GEOLOGY	3.00	D	3.00	3.00	3.00
GLG	103	PHYSICAL GEOLOGY LAB	1.00	F	0.00	1.00	0.00
POS	220	FEDERAL & ARIZONA CONSTITUTION	3.00	В	3.00	3.00	9.00
TSM	404	RESEARCH METHODS	3.00	F	0.00	3.00	0.00

Unofficial Transcript

Name: Student ID:	Rebecc: 3261516		G.IIG.III.G		•				
		Term GPA:	1.00		Terr	m Totals:	<u>Earned</u> 9.00	<u>GPA</u> <u>Units</u> 15.00	<u>Points</u> 15.00
		Cum GPA:	3.51		Cui	m Totals:	87.00	91.00	319.00
		ACADEMIC S	TANDING: GOOD as of 05/21	/2018					
Spring 20	19							CDA	
Course BIO FIN SOC SOC	302 190 210 301	PERSONL FI SOCIAL PRO TPCS CONTE	OF SCIENCE NANCE GLOBAL ECONOMY BLEMS EMPORARY SOC ISSUES OGY OF FOOD		Attempted 3.00 3.00 3.00 3.00	Grade A A C A	Earned 3.00 3.00 3.00 3.00	GPA Units 3.00 3.00 3.00 3.00	Points 12.00 12.00 6.00 12.00
		Term GPA:	3.50		Terr	m Totals:	<u>Earned</u> 12.00	<u>GPA</u> <u>Units</u> 12.00	<u>Points</u> 42.00
		Cum GPA:	3.50		Cui	m Totals:	99.00	103.00	361.00
		Term Honor:	DEAN'S LIST						
		ACADEMIC S	TANDING: GOOD as of 05/20	/2019					
Fall 2019									
								<u>GPA</u>	
<u>Course</u> BIO	310	Description SCI CONCER	PTS IN HUMAN BIO		Attempted 3.00	<u>Grade</u> A	<u>Earned</u> 3.00	<u>Units</u> 3.00	<u>Points</u> 12.00
CCJ	314	Topic: HUMAN	BIOLOGY D AND CRIME		4.00	Α	4.00	4.00	16.00
SOC	315		TY & THE AMER INDIAN		3.00	Ĉ	3.00	3.00	6.00
SOC	318	SOCIOLOGY	OF HEALTH & ILLNESS		3.00	Α	3.00	3.00	12.00
		Term GPA:	3.54		Torr	m Totals:	<u>Earned</u> 13.00	GPA Units 13.00	<u>Points</u> 46.00
		Cum GPA:	3.51			m Totals:	112.00	116.00	407.00
		Term Honor:	DEAN'S LIST		Cui	iii Totais.	112.00	110.00	407.00
			STANDING: GOOD as of 12/21	/2019					
Spring 20	20								
Course BUS BUS POS POS	449C 450C 355 359	CAPSTONE/I WOMEN, PO	DNE PROPOSAL DEV'T NTEGRATIVE LEARNING WER AND POLITICS NTAL POLICY		Attempted 1.00 2.00 3.00 3.00	Grade A B	Earned 1.00 0.00 3.00 0.00	GPA Units 1.00 2.00 3.00 3.00	Points 4.00 0.00 9.00 0.00
		Term GPA:	3.25		Terr	m Totals:	Earned 4.00	GPA <u>Units</u> 4.00	<u>Points</u> 13.00
		Cum GPA:	3.50		Cui	m Totals:	116.00	120.00	420.00

Unofficial Transcript

Name: Rebecca Karel Student ID: 3261516

Undergraduate Career Totals

GPA Units Earned 116.00 Points 420.00 NAU Enrollment Totals: 120.00

0.00 420.00 Transfer Totals: 0.00 0.00 Cum Totals: 116.00 120.00

Non-Course Milestones

NAUTeach Admission

Status:

Completed UGRD-Degree Seeking 02/27/2017

Cum GPA:

3.50

Program:
Date Completed:
Date Attempted: 02/27/2017 Completed

End of Undergraduate